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0, 5000
0.5398
0.5791
0.6179
0.6554
0.6913
0.7237
0.7300
0.ragl
0.8159
0.8413
0. 8643
0.0849
0.9032
0.9192
0.9332
0.9452
0.9554
0.9641
0.9713
0.9772
0.9821
0.9861
0.9893
0.9918
0.9930
0.9951
0.9965
0.991
0. 9961
0.9907

Tables of the Normal Distribution
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0.7611 0. 7642
0.7910 0.7939
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D.8438 D.8461
0.86635 0.8686
0.6869 0,6668
0.904% 0.9066
0.9207 0.9222
0.9345 0.9357
0.9463 0.9474
0.9564 0,95%3
0.9649 0,9656
0.971% 0.9726
0.9778 0.9783
0.9826 0.9830
0.9864 0.9868
0,9896 0.9898
0,9920 0,9922
0.9940 0.9941
0.9935 0.9956
D.9966 0.9967
0.9975 0.9976
0,9982 0,9962
0.9987 0.9987
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0.5517
0.5910
0. 6293
0. 6664
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0, 7357
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0,8485
0.68708
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0. 9002
0.,9236
0.9370
0.9484
0. 9562
0. 9664
0.9732
0. 9784
0.9834
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0. 9901
0, 9925
0.9943
0. 9957
0.9968
0.9977
0. 9963
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0,5199
0.539%
0. 5907
0.6368
0.6736
0.7088
0. 7422
0,773
0.8023
0.8289
0.8531
0.68749
0, 8944
0.9115
0.9263
0.939%4
0.9505
0.93599
0.9678
0.9744
0.9794
0.9842
0.9878
0.9906
0.9929
0.9946
0.9960
0.9970
0.9978
0, 9964
0,9989

0. 5279 0,5319
0.5675 0.35714
0.0064 0.6103
0.6443 0.6480
0.6808 0.6844
0.7157 0.7190
0, 7486 0.7517
0.7794 0.7023
0.8078 0.8106
0.8340 0.8365
0.8577 0.8599
0.8790 0.8810
0.6960 0,8997
0.9147 0.9162
0.9292 0.9306
0.9418 0.9429
0.9525 0,9535
0.9616 0,9625
0.9693 0.9699
0.9756 0.9761
0.9808 0.9812
0.9850 0.9854
0.9884 0.9887
0.9911 0.9913
0,9932 0.9904
0.9949 0.9951
0.9962 0.9963
0.9972 0.9973
0.9979 0.9980
0. 9985 0,996
0.9969 0,9990
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0,5359
0.5753
0.6141
0.6317
0.6879
0.7224
0.7349%
0.7052
0.8131
0.8389
0.8621
0. 8830
0.9013
0.9177
0.9319
0.9441
0.9545
0.9633
0.9706
0.9767
0.9817
0.9857
0.9890
0.9916
0,996
0.9952
0.9964
0.9914
0.9981
0. 9946
0.9990
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